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WAL | B R4 G OUT | IN |GROSS| HDCP | NET |crossi %% WAL | B R4 P OUT | 1IN |GROSS| HDCP | NET |crossif fi+
xR FR O |LEEEEGC 36 37 73] 0.0 [73.0 S1iEH ] AGRCC 41 41 82] 0.0 [82.0
2 KA I B EIBRGC 37 38 75| 0.0 | 75.0 VEP I S Z235CC 41 41 82| 0.0 [82.0
3IFH B B A FnCC 37 38 75| 0.0 | 75.0 53| EIl  EAT Jis 55 BLCC 40 42 82| 0.0 [82.0
48R B Jis 55 EBEGC 37 38 75| 0.0 | 75.0 ESIRE: Js 55 HUMLCC 40 42 82| 0.0 [82.0
bIWERE A =0508 35 40 75/ 0.0 |75.0 55| 2 K Tl HCC 40 42 82| 0.0 |82.0
6= AR AGRCC 38 38 76/ 0.0 |76.0 56| fHz B 5%CcC 39 43 82| 0.0 [82.0
TREAR  Fosk B CC 38 38 76/ 0.0 | 76.0 57| KE R’ Jis 5 R RCC 46 37 83| 0.0 83.0
8IHRJIl i Jis B EIERGC 36 40 76/ 0.0 | 76.0 58| Y] [ERE Jis I [E R GC 43 40 83| 0.0 [83.0
S =E S WEEF)IICC 36 40 76/ 0.0 | 76.0 59k FiiE AIFCC 42 41 83| 0.0 83.0
10| Eid H #iiicC 41 36 771 0.0 | 77.0 60 KH  F5ilt Jis B5CC 41 42 83| 0.0 /83.0
L1 F)I feiE Jis E5CC 40 37 770 0.0 | 77.0 61 AH E— 22 3=CC 41 42 83| 0.0 83.0
1211 BT B ECC 40 37 77] 0.0 | 77.0 62|80 5 H #iicc 41 42 83| 0.0 |83.0
13| %8 Fn/A 5CC 37 40 771 0.0 |77.0 63| HEXK /b AR GC 40 43 83| 0.0 [83.0
145K i3 A CC 36 41 771 0.0 | 77.0 64 fnJH 18T HHET) 1| CC 38 45 83, 0.0 [83.0 Biet SULbl)
15[ 4FA 50 36 41 77 0.0 [77.0 HERTIEEER HCC 37 46 83| 0.0 /83.0
16|11 JEHI i B EBEGC 42 36 78] 0.0 |78.0 66| —HH 1E Hee 44 40 84| 0.0 /84.0
17 ER BE W1 CC 40 38/ 78] 0.0 [78.0 67| %M SEin HHEF)1ICC 43 41 84 0.0 |84.0
18|7"E & HEEy)IICC 40 38 78/ 0.0 | 78.0 68|/ FnHl HCC 41 43 84| 0.0 |84.0
19|FIZH B HCC 39 39 78/ 0.0 |78.0 69/ fH B2 Jis 5 BRRCC 40 44 84/ 0.0 184.0
20 /8 F2 = B EERICC 38 40 78/ 0.0 | 78.0 70 = e A ECC 40 44 84/ 0.0 |84.0
21 i JECC 37 41 78/ 0.0 | 78.0 158 HAT SRJECC 38 46 84/ 0.0 |84.0
22|%E  SFHE Jis 5 BRERCC 37 41 78/ 0.0 |78.0 201558 B= IR EHmBCC 45 40 85/ 0.0 |85.0
231 FHH AHBCC 42 37 79/ 0.0 |79.0 T3 PR iz Ji I BB CC 45 40 85/ 0.0 | 85.0
24| )I FFn i B EBEGC 40 39 79/ 0.0 |79.0 T4l FH E —FK HCC 44 41 85/ 0.0 |85.0
25|41 1FsE Ji S BRCC 40 39 79/ 0.0 |79.0 75\ H A SRJECC 44 41 85/ 0.0 |85.0
26| ] ZEAR Jis B RRCC 40 39 79! 0.0 [79.0 S AGRCC 43 42 85/ 0.0 |85.0
27| HHF  FA HEEF)ICC 40 39 79/ 0.0 |79.0 WEE Jis 5 BRRCC 43 42 85/ 0.0 |85.0
28| =F)  BEHH SR JECC 40 39 79/ 0.0 |79.0 8|EK FElR Jis B BB CC 43 42 85/ 0.0 | 85.0
29 V¢ H BEFE i JECC 37 42 79/ 0.0 |79.0 79 HIH  4FE Jis 5 E BRGC 42 43 85/ 0.0 | 85.0
30| &k 12H JiBCC 37 42 79/ 0.0 |79.0 80 | HEJR  HEFH =1l 42 43 85/ 0.0 |85.0
3| EkE THE i B EBEGC 42 38 80/ 0.0 |80.0 S1|IUA  ZEE HCC 41 44 85/ 0.0 |85.0
32181l R H7=CC 42 38 80| 0.0 |80.0 82|5FN  Hik AIBCC 41 44 85/ 0.0 |85.0
33180 —I HEEF)11CC 42 38 80| 0.0 |80.0 83| M fH| /MY AVAGC 41 44 85 0.0 |85.0
34 H ik WA ECC 41 39 80| 0.0 |80.0 s4l 80 B #2=CC 45 41 86| 0.0 |86.0
35| HH B = B EFICC 41 39 80| 0.0 [80.0 85| —F & AIRCC 45 41 86/ 0.0 |86.0
36|E)I|  Hliys B %CC 40 40 80/ 0.0 |80.0 86| FIaAN (& B%CC 45 41 86/ 0.0 |86.0
37| MmO AIRCC 39 41 80| 0.0 [80.0 87TMH == HEER)ICC 43 43 86/ 0.0 86.0
3B FA HA i B EBEGC 39 41 80/ 0.0 |80.0 88| L2 1 T/ A/AGC 43 43 86/ 0.0 |86.0
39 mH B Jis B E BRGC 38 42 80/ 0.0 |80.0 89| 7l e " 2=CC 43 43 86/ 0.0 |86.0
40/ ERin HZ=CC 43 38 81| 0.0 |81.0 90 | JEER  FI=E P JECC 43 43 86/ 0.0 |86.0
41 FEAR % B B RCC 41 40 81| 0.0 |81.0 91| FIBA Jis 5 [EIBRGC 43 43 86| 0.0 |86.0
42 |BHH: Bk IBJECC 40 41 81| 0.0 |81.0 2 =% s Jis Je EBRGC 42 44 86/ 0.0 |86.0
43 H8H ARk HEEy)IICC 40 41 81| 0.0 |81.0 93k — B EFCC 41 45 86/ 0.0 |86.0
44| SUHE Jis B BRRCC 38 43 81| 0.0 |81.0 94\ ¥ EM WHET)1[CC 41 45 86/ 0.0 |86.0
45 B H e A ECC 46 36 82| 0.0 |82.0 95| IEA H #Eice 41 45 86/ 0.0 |86.0
46| AR BR Jis 5 [E BRGC 43 39 82| 0.0 [82.0 96 |PFE —% R ECC 40 46 86/ 0.0 |86.0
475K % WA ECC 42 40 82| 0.0 [82.0 97| HE  F R ECC 39 47 86/ 0.0 |86.0
48|55 HERRE  [BE%CC 42 40 82| 0.0 |82.0 o8Il %P Jis Je EBRGC 45 42 87| 0.0 |87.0
49 H T bk Ji S EIRGC 42 40 82| 0.0 [82.0 99 M9 P WHET) 1 CC 44 43 87/ 0.0 87.0
50| (R AGCC 42 40 82| 0.0 |82.0 100 e[ AF  JE I B 50C 44 43 87 0.0 |87.0
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NBAZ | BN K4 AT I OUT | 1IN | GROSS| HDCP | NET | crossui e BN | I R4 AT OUT | IN |GROSS| HDCP | NET |crosshi e
101 LA SE— 500 44 43 87] 0.0 [87.0 R A {10 T2 2200 ol 0.0 1 0.0
102 59)I  {# 22 F5CC 42 45 87| 0.0 [87.0 K% M A Js I BRCC 0, 0.0 | 0.0
103 7K¥E B B %CC 42 45| 87| 0.0 [87.0 Ry |[IWF HEH—= [ JE5 BUBRCC 0/ 0.0 0.0
104 | Fetf W BT )1ICC 40 47] 87| 0.0 [87.0 Ky IO sk JI= E5CC 0] 0.0 | 0.0
105 BT ZFi | HUASCC 40 47 87| 0.0 [87.0 KD R WEEr)11CC 0, 0.0 | 0.0
106|fEH £ WA )1 CC 39 48 87| 0.0 [87.0 K | EH 54 AHBCC 0, 0.0 | 0.0
107 il 5o 7 =N =2 GC 48 40/  88[ 0.0 [88.0 KB A o HRBCC 0 0.0 | 0.0
108 |118%  Fnil Jis 5CC 47 41 88] 0.0 |88.0 Ry |[(FiE F5= ZEFECC 0l 0.0 ] 0.0
109 =% =i " 72CC 45 43 88] 0.0 |88.0 R | FE= H0C 0/ 0.0 | 0.0
Lol Bse ABIECC 44 44| 88| 0.0 [88.0 Ry R fd#= F22CC 0/ 0.0 0.0
1114 BUOR HJECC 44 44 88 0.0 |88.0 K& |HHE [ WAEF)I]CC 0l 0.0 | 0.0
112 #8)I &R B %CCe 44 44| 88| 0.0 [88.0 Kk AR & WAEF) 1] CC 0/ 0.0 ] 0.0
1138 R % Jis B [EIBRGC 43 45 88/ 0.0 |88.0
114 1hx i rJECC 41 47 88/ 0.0 |88.0
L1571k B SR JE.CC 40 48 88/ 0.0 |88.0
1163+ E% B %cc 47 42 89| 0.0 [89.0
117 85K EERL0 45 44 89| 0.0 [89.0
L18|JE[E /% T/ A1 GC 44 45 89/ 0.0 [89.0
119/ % 8k ikiG 2 35CC 46 44 90| 0.0 |90.0
120 A JAAE B%cc 43 47 90| 0.0 |90.0
12146 i 2 35CC 43 47 90| 0.0 |90.0
122 |EfE  {fise Jis I [EIBRGC 48 43 91] 0.0 [91.0
123|5% 1817 B 5cc 48 43 91] 0.0 [91.0
124 /8 i Jis 55 BUMLCC 45 46 91| 0.0 |91.0
125|523 {ERI B 5 ERCC 44 47 91| 0.0 |91.0
126 ffk  HLEE R2ECC 42 49 91] 0.0 [91.0
127 R i rJECC 42 49 91] 0.0 [91.0
128/ F EH 7T )=Un =1 GC 48 44 92| 0.0 [92.0
129|810 ¢ Jis b [E R GC 48 44 92| 0.0 |92.0
130| &4 B WHET)1[CC 46 46 92/ 0.0 [92.0
131|784 F#Fih WHET) [ CC 44 48 92/ 0.0 |92.0
1327FK iR Hee 44 48 92| 0.0 |92.0
133|) 1]l e[ 3200 44 48 92| 0.0 |92.0
34|/ /AR K32 [HRET)ICC 47 46 93] 0.0 93.0
135/ 5L5: 2 35CC 45 48 93] 0.0 93.0
136\ #FIE Jis 55 BUBLCC 45 48 93] 0.0 [93.0
137/ A E B%CC 46 48 94| 0.0 [94.0
13842 K FaN UL BSEERGC 42 52 94| 0.0 |94.0
139 4k —F& SR JECC 50 45 95| 0.0 |95.0
140|#8 E  FHK WHET) 1 CC 51 45 96| 0.0 |96.0
141 [ H S Jis 55 BUBLCC 49 47 96| 0.0 |96.0
14210 H St WHET) 1| CC 48 48 96/ 0.0 |96.0
1439  H Jis J5 [E R GC 42 55 97| 0.0 |97.0
K |mite FRkE W F NGR 0l 0.0 | 0.0
K | HH v B 5cC 0/ 0.0 | 0.0
Ky |USH  3k— =500 0/ 0.0 | 0.0
K L% —7% /I AVAGC 0/ 0.0 | 0.0
Rz |RKH IEF] HCC 0l 0.0 | 0.0
K |HA  FEiR HCC 0/ 0.0 | 0.0
K% Lk BR Jis 55 CC 0l 0.0 | 0.0
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